Unit 2 Information Technology 
 Outcome 3 Test

QUESTION AND ANSWER BOOK

Structure of book

	Sections
	Number of questions
	Number of marks
	Total marks

	Multiple Choice
	20
	20
	50

	Short Answer
	12
	30


	Materials:

· Question and answer book of 12 pages.

· Multiple choice answer sheet.

Instructions

· Write your name in the space provided on the front cover of the question and answer book.

· All written responses must be English.


SECTION 1 - Multiple Choice Questions

Instructions

Answer all questions in Section 1 by circling the most correct answer.
If you need to change an answer cross out the initial choice and circle your alternative answer.

Question 1

In a _____________ topology all devices are linked to a circle of cable.

a. Mesh

b. Bus

c. Ring.

d. Tree

Question 2

Efficiency refers to:

a. Speed, cost and effort

b. Speed, accuracy and effort

c. Speed, cost and effectiveness

d. All of the above.

Question 3

A mobile phone account is produced with a:
a. Transaction processing system (TPS).

b. Management information systems (MIS).

c. Decision support systems (DSS).

d. Expert systems (ES).

Question 4

A network manager: 

a. Writes of maintains computer programs.

b. Manages the day to day operation of computers in an organisation.

c. Is responsible for developing and maintaining a network.

d.   Translates the needs of an end user to design an information system

Question 5

A protocol is:

a. A program which allows access to the internet.

b. A device which connects a number of PC’s to a network.

c. The way in which people behave when meeting a dignitary.

d. A set of rules and procedures for exchanging information between computers.

Question 6

Which term best describes the following definition: “The degree to which data is correct, or valid”.
a. Data security
b. Garbage in garbage out
c. Data integrity
d. Data and information
Question 7

What causes could lead to a system failure:

a. Aging hardware.

b. Natural disasters.

c. Electrical power problems.

d. All of the above.

Question 8

Which best describes an analog signal:

a. Electrical pulses.

b. A continuous wave.

c. Is made up of 0 and 1
d. A breakthrough form of wireless transmission media
Question 9

What is an example of an advantage of a network over a stand-alone computer:
a. Communicating
b. Sharing of resources
c. Sharing of data and information
d. All of the above.

Question 10

Which group of files could be saved onto a standard floppy disk?

a. PowerPoint file (900 KB), database file (450 KB), music file (660 KB).

b. PowerPoint file (550 KB), database file (350 KB), video file (1650 KB).

c. PowerPoint file (515 KB), spreadsheet file (315 KB), JPEG image file (1200 KB).

d. Database file (450 KB), spreadsheet file (300 KB), word-processed file (228KB).

Question 11

Traffic level sensors and computerised gates at train stations and sporting venues are examples of: 

a. Management systems.

b. Controlling systems.

c. Expert systems.

d. Decision support systems.

Question 12

Swiping EFTPOS cards and online registration forms are examples of:

a. Manual data acquisition.

b. Electronic data acquisition.

c. Manipulation.

d. Validation.

Question 13

A LAN is a: 

a. Local Access Network.

b. Local Area Network.

c. Local Application Network.

d. None of the above.

Question 14

Microwave transmission: 

a. Cooks your food slower than traditional stovetop cooking.

b. Relies on line of sight communication.

c. Can operate with objects between the transmitter and receiver

d.    None of the above
Question 15

A tree topology is a combination of which two topologies?

a. Ring and bus.

b. Ring and tree.

c. Ring and star.

d. Bus and star.

Question 16

A server:

a. Is a computer.

b. Is the interface between the computer and the cable.

c. Connects LANs together.

d. None of the above.

Question 17

An example of computer fraud is when:

a. A person uses a computer to send electronic mail.

b. A person or company buys new software and pays for the software by credit card.

c. A bank teller transfers money from one bank account to another with the permission of the customer.

d. A bank teller transfers money from one bank account to another without the permission of the customer.

Question 18

A software package written specifically for a task in an organisation is:

a. System software.

b. Network software.

c. Off the shelf software.

d. Custom built software.

Question 19

A systems analyst:
a. Writes and maintains computer programs.

b. Enters and validates data.

c. Designs, repairs and maintains the hardware of an information system. 

d. Designs information systems that meet end users’ needs.

Question 20

FTP:
a. Stands for file transfer procedure.
b. Allows a user to upload and download files to and from a web-server.

c. Both A and B are correct.

d. None of the above are correct.
TOTAL MARKS = 20

SECTION 2 - Short Answer Questions

Instructions

Answer all questions in Section 2 in the spaces provided. If you need to change or add to an answer, there is extra space available at the back of the book.

Question 1

Discuss three advantages of using a computer network in an organisation?

	

	

	


(3 marks)

Question 2

What is the function of a modem?

	

	

	


(2 marks)

Question 3

What is packet switching technology?
	

	

	


(2 marks)

Question 4

Discuss why fibre optic cable is considered more secure than Ethernet cable in a network.

	

	

	

	

	

	


(2 marks)

Question 5

List 3 tips for effective password usage.
	

	

	

	


(3 marks)

Question 6

List 4 factors that would need to be taken into consideration when designing a network.
	

	

	

	

	

	


(4 x ½ mark = 2 marks)

Question 7

Draw a diagram of a bus network topology.

(3 marks) 

Question 8

Explain why networks have a much higher security risk than standard computers.
	

	

	

	

	


(2 marks)

Question 9

What are the differences between a Transaction Processing System and a Management Information System?

	

	

	

	

	

	


(4 marks)

Question 10

Explain how microwave signals are transmitted.

	

	

	

	


(2 marks)
Question 11

Describe 2 main differences between coaxial cable and fibre optic cable.

	

	

	

	


(2 marks)

Question 12

Identify a network topology and list one advantage and one disadvantage.

	

	

	

	

	

	


(3 marks)

TOTAL MARKS =


